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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P60:Σx−F10_L,s(λ)=99,17
xF10_L,s=0,2338
yF10_L,s=0,2437
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P55:Σx−F10_L,s(λ)=97,31
xF10_L,s=0,2420
yF10_L,s=0,2558
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P50:Σx−F10_L,s(λ)=95,61
xF10_L,s=0,2525
yF10_L,s=0,2705
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Wellenlänge λ /nm
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P45:Σx−F10_L,s(λ)=94,26
xF10_L,s=0,2663
yF10_L,s=0,2884
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P40:Σx−F10_L,s(λ)=93,61
xF10_L,s=0,2849
yF10_L,s=0,3102
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P35:Σx−F10_L,s(λ)=94,26
xF10_L,s=0,3104
yF10_L,s=0,3365
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P30:Σx−F10_L,s(λ)=97,39
xF10_L,s=0,3458
yF10_L,s=0,3669
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CIEF10_L-Normspektralwerte Ysum=100
x−F10_L,s(λ)=A11l

−
F10_L,s(λ)+A12m

−
F10_L,s(λ)

+A13s
−

F10_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

P25:Σx−F10_L,s(λ)=105,50
xF10_L,s=0,3951
yF10_L,s=0,3986


